e B0 ol Soner el 'y

CLe CLASSE Wby, ,

4% tAL] ;
ot 1 Dol ToribIA|

’l-..l I ET LA "'.I-H.”

N .' fijt.g:._:-“]“]

B6 250 1979




23 1o

4 +_1L_f'_3.9
5"

4/30

5,35

e
y 8 §
-

5,05

A
¢+
- §

33"

.*flé’?%*m_ 45

e . e P 4 B S v 5 o 40" 4 i
1°[1.00 A0, 4,35 fo, 595 ol — . ) 4,87 e 5,45 o 4,35 49" 400 40
ATl 3 rt T L T » .
35540 1/ A58 A0 IL . ot 35x40 /L 5XA 0
2oxb 0 30 % 60 35 x 65 {00 x 34 oo x21 3565 20X60 305159
-
40 %21 dox2] | ~ "
sl S ¥ 0 § 3 o Rl
HIlE: R : 5 o S o |18
N N & “C IR o i 0N & | Y
40Xx35
35%40 35%40 A0x35 4or35 25540 35 fA0)
(20450 3 35 % 65 90 x2 4 90x21 —5Ex 65 3L7GE 35x538]
d
/ X / |
Ny N
/ ‘\\)‘ E ‘2 :3 o | | v
. o~ o M &\ NERS
‘ﬁ — o
/
Sox30 50x30 40*55 40x35 40x35 5ox30 50x30 A0x35
0 x50 “35 XG5 0%5 0 oXx5 0 0X50 Y- 30x50 x50 50 35X65 2bx
35X 40 3540 -— |8 - - 35%40
y ) »
9 / » 0 lg 0 0 o0 0
2 5 ||k : 8 o113 ©
[\ 0 L8 o X
0 Q ™ A 0 0 LN 0
M 14} bb
2,50 2,50 e
s ’
35 x40 35x4 0
0X50 35 %65 1‘5‘5&30;(50 30x50 x50 0 X506 F]30x 35 %65 30x50 |
4035 50x30 Sox 30 50430 50%30 40x35 | FJ
» \ \ > 15
~ :\; N '\) ~ &; ., ‘.» /} N
SR 3 : MIER s S |I[8
0 ;
o || o q K o 6 N L\
35x 40 35x40 35x40 3ix4o 1
30450 30%X60 30x60 Z|30x 50, 20X 6o 30Xx00 S0
1 /L 3Bx4o 1 1 35x40 |
v |
M n W Vi
Ac "LQO +40'f 4 5% foi 3,85 fol s i (400, 4 3.8% 2 4,35 g J."'IL" Ll
; ™ T x 1 T Es‘r Xéﬁ 2‘,’,‘[ f IFOT"
o i 4 ' 4
T 14,80 1 i 11,80 T




[ ] |
| l | .
B o I 1 I - | - l ‘ |
stadied o | \m\w $¢/s s /LL\\ \"**W F 648 & hakle $6/5 | walfe 415" | cralle 675" ; stafle 4675 ||| stakicdsis”
- - | l . P ! " > } T
il | ] : . : 35x 65 : I! A5 cs : ,60550
| ! i | | : | i
16 75
el : 4 L 625 : 530 ; 530 ; 625 1 AT5 . J6o
160 20 200 Abo | 530 is | l I ~140
10 i } B 2 16 200 o
Fas i e .9 I = 4 | s, fau f %0 . w8 o " 2 é16
5 g0 70 o o 122 r . z.l 150 2 éﬂ’ | 2 f‘lé e i zal 180 A=Ado1
o g g yl T (=945 | L=945 “-’———#\t LI o
o | 2o I 442 | I | 463 v 3 m 2§16
I | | I l 20 ’ 10 A= 271
| | , PRES pee 2416 1
o B0 70 ™ 146" | | X 2. 948 1 l
) 8% 40 | 8 28 40 2. 94 I 1916 {Bo (70 5 20 o 180 20, To 5 16
20 i50 0 1 bo P Ise l 2 16 I 2 f,'é I 20 I 4o. B
ES 180 | 460 léeo | 7
o yamdEEE = 2L | Ve gttt wlEbe | R 24
29 150 20 20 ,el 442 20 20 : | g k
l e | | | 20 do _f=442 = ¥ "wr P-5oe
| | : ..;:'L 530 ; 530 _J2e | :
; 2o
20 l_! 475 —rL 625 s 4' 16 ! | 2 16
2 | > L4440 =L - ! 418 o f=1190
| | P
| *““ : 5‘ | '
| shadke I , f s¥ade | : | TR '
\m\w f%/ LR fctatedote | o |, < e stabfe $6ic” | Yot stabte $0is” |1 | st 4575
35x656 / 30x80||[ 3o0xB0 il 3ox50 : dox 50 ; N 20 % 50 : \ // -
- i : | ] R 40 % 65 Tl 3ose
I
£, i | |
|
| I
475 I |
7 ] 160 e 270 % 195 i & 50 " 530 . 196 475 , 160
20 20 ! : 70 . 46 | I — 10
374 o e 4 s I ; f ' 2, leo 2¢16
; L ; | : al / " | 374 4 I& AL=1o040
> $4b 15 ¥ ns‘:s 20, 70 A %45 150 20 aal 70 | %)
Js K=18¢ : & WS & $s 2l810"° s . @ 1# &, o = ass 3 ¢1k
20 | | lo o | TRTIN © e | ! 2¢1e ' e BTT
70 20 3 &4 2 *lé 2&"9 £ In | Az27%1 to e e A
20
wo[:——_ RS ” ¢ a7 A-274 . 6T s 2416 & & ﬁ-" 2 75' 16
. 2,; 150 20 20 I | I : ' i - &16 Ty £=331 = i s [ o TZ.; L= 506
| | 155 5 70 4 &6 £=290 1 :
0 475 : " U_"” | 1416 , M |
- S - - o i oot T B TR T
! ‘ | | , . . _f=53S
2%4@ )aaLlL 160 ; “LTo + /195 530 : 530 ., /95 f
9 | l |
|







APMATURE TRAVI TRASVERSAL]

|
| | ' i |
ICHMATURE TRAVI do=2i | | o | sigr | stofie #64s7 ||
| g*&\-‘\.g fé/;g" ! 5‘1’;&.{-1. éb/,_g' | " ‘a‘"**’\" él/’s [ - .
- < s AN /T Jox 21 f Abalnis '
i ek l 20 x50 ; | :
l
| l
|
| | | | | |
N - Aadye $%0s° : ' ! l 1 : 5
z< I
B 0 =21 L] | | ! PER 2o 2,446
e i | o ST = : i | ; e |
' i | - | 461
| 'l' 16 A=621 5 | "20 2020, § 9 180 | 150 3 e
- 5N 262 1o Zf . 441 a"I:F:_\IM X N 406 y:\:o 4-68€ :3/ } Tyl A \ |
fos 1 2§t A-6% e o vaille el | ' s 4 16
AR V) Ay | q ( ol 48 3 416 ' g 2L
s P N L | 3P gt2e gte P oo s, ,e={60 | @ R 4393
; | , ; :
: | 2 f‘fé A=¢621 ' 4=310 lo % A 10 : | |
- 565 a0 : I
- o T‘ : \ F | 2§ 16 | |
| ! 101 1 J.;;" A= 595 | |
| - | 1 | | 3
| ' | ' | ' | 4 $16
| 465 1
4?45 “LL 440 —a 10 104 L J; ; J'[ioo A =1095
A=60o0 J. ln. 2q | |
|




